COSTWAY

www.costway.com

USER’S MANUAL

PEDAL GO-KART
TY327797

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION. PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Please give us a chance to make it right and do better! Follow Costway

Contact our friendly customer service department for help first. Visit us: www.costway.com

Replacements for missing or damaged parts will be shipped ASAP! n u

EN |DE|FR| Es| IT|PL




COSTWAY

www.costway.com

Contact Us!

Do NOT return this item.

Contact our friendly customer service department for help first.

E-mail
US: cs.us@costway.com

UK: cs.uk@costway.com

Before You Start

Please read all instructions carefully and keep it for future reference.
Warnings:

Attention! Use it with protective equipment.

Attention! Not use it in the traffic.

Attention! The product is not suitable for the children under 3 years.

General Warnings:

A The product must be installed and used under the supervision of an adult.

A Read through each step carefully and follow the proper order.

A\ Remove all packaging, separate and count all parts and hardware.

A\ Please ensure that all parts are correctly installed, incorrect installation can lead to a danger.
A\ We recommend that, where possible, all items are assembled near to the area in which they
will be placed in use, to avoid moving the product unnecessarily once assembled.

A Ensure a secure surface during construction, und place the product always on a flat, steady
and stable surface.

A Please use the product carefully, as the product requires great skill, avoid accidents by the
user or others, by fall or collision.

A\ Please wear suitable protective equipment during use, e.g. protective helmet, gloves, knee

pads, elbow pads etc.

02



COSTWAY

www.costway.com

Execution Standard: EN71-1, -2, -3

Please read this manual carefully before use

Caution: For correct and safe operation of this product,
be sure to read this instruction manual carefully before use.
Please retain this user manual for future reference.

03



COSTWAY

www.costway.com

Parts List (included):

1.0ne steering wheel

3.0ne steering shaft

cosTway

vnewczostwaycom

\®
7

USER’S MANUAL
PEDAL GO-KART
TY321787

y
[ - |[AOBBR0
en |oe| | EE‘ n‘n

5. Manual

2.0ne seat

4.0ne steering support

04



COSTWAY

www.costway.com

6.0One front panel 7. One license plate

8. Bag of nuts and bolts 9. Steering Wheel Cover

2 x M5*40mm bolts
4 x M5*45mm bolts
2 x M5*50mm bolts
2 x 5%*14mm washers
6 x 5%12mm washers
8 x M5 nuts

05



COSTWAY

www.costway.com

Assembly Instructions:

1. Attach the steering support to the frame of the go-kart. Fix with
MS5*45mm bolts and ensure to use washers where appropriate.

2. Fix the license plate on the front of the go-kart with 2pcs of M5*40mm
bolts and washers.




COSTWAY

www.costway.com

4. Insert the steering shaft through the turning pole. Place the front
panel over the steering shaft.

Please pull this part when you insert the steering shaft through the
turning pole._

5.Place the steering wheel in place and insert the steering shaft
through it and fix with 2 square washers and M8 nuts.

07



COSTWAY

www.costway.com

6.Fix the seat to the frame of the go-kart using M5*50mm bolts, ensure to
use washers again where appropriate.

7.Place the steering wheel cover in the centre of the steering wheel.

08



COSTWAY

www.costway.com

8.Ensure all nuts and bolts are securely tightened before use, and the
tyres are appropriately inflated.

WARNINGS:

Not suitable for children under 3 years of age

Maximum weight capacity of 30kg

Adult supervision is required at all times

Children should be instructed on how to apply brakes before use

This product should not be operated on public roads, highways or bicycle paths

Read ‘Safe operation’ section before use

Always inspect and maintain product prior to use

SAFE OPERATION:

This product must be assembled by an adult and checked by an adult before use

Ensure nuts and bolts remain securely fastened before use

Lubricate the chain often

The toy should be used with caution since the skill is required to avoid falls or
collisions causing injury to the user or third parties.

Perform a brake test before use

Do not store in direct sunlight

Materials of product:

A. (PP) B. (IRON)

09




COSTWAY

www.costway.com

Welcome to visit our website and purchase our quality products!

Your suggestions and comments for COSTWAY are really important to us!
We sincerely solicit you to go back to our shop and leave a good rating in just a
simple click. It would be quite encouraging if you could kindly do so like below:

* % % X X Great products so far

February 24, 2019
Great products so far. Fast delivery, easy setup, and working without any issues.

With your inspiring rating, COSTWAY will be more consistent to offer you
EASY SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

US office: Fontana, California
UK office: Ipswich

* Reward Points
‘ * Exclusive Customer Service
* Personalized Recommendations

* Permanent Shopping Cart
* Order History

COSTWAY
www.costway.com

5 Star Rating

.88 8.6 ¢

We would like to extend our heartfelt thanks to /‘EA'NL‘

all of our customers for taking time to assemble

this product and giving us valuable feedbacks.

) -

10



COSTWAY

www.costway.de

HANDBUCH

Gokart
TY327797

DAS HANDBUCH ENTHALT WICHTIGE SICHERHEITSHINWEISE. BITTE LESEN UND BEWAHREN SIE FUR DIE ZUKUNFTIGE VERWENDUNG AUF.

Bitte geben Sie uns eine Chance, Folgen Costway
es zu korrigieren und besser zu machen!
Wenden Sie sich zunachst an unseren freundlichen Kundendienst.

Ersatz fiir fehlende oder beschadigte Teile wird so schnell wie méglich versendet! e
{19

11

Besuchen uns:www.costway.de

E

4

|DE| FR| Es| IT|PL



COSTWAY

www.costway.de

Kontaktieren Sie uns!

Senden Sie diesen Artikel NICHT zuriick.

Wenden Sie sich zunachst an unseren freundlichen Kundendienst.

E-mail

DE:cs.de@costway.com

Vor dem Beginnen

Bitte lesen Sie alle Anweisungen sorgféltig durch und Bewahren Sie die Anweisungen zur
zukiinftigen Verwendung auf.

Warnung!

Achtung! Mit Schutzausriistung zu benutzen.

Achtung! Nicht im StraBenverkehr zu verwenden.

Achtung! Das Produkt ist nicht geeignet fiir Kinder unter 3 Jahren.

Warnhinweise:

A\ Das Produkt muss unter Aufsicht eines Erwachsenen installiert und verwendet werden.

A Lesen Sie jeden Schritt sorgfiltig durch und befolgen Sie die richtige Reihenfolge.

A Entfernen Sie alle Verpackungen, separieren und zdhlen Sie alle Teile und Hardware vor der
Montage oder Verwendung.

A\ Bitte beachten Sie darauf, alle Teile richtig anzubringen, eine falsche Montage kann zu einer
Gefahrdung fiihren.

A\ Achten Sie auf einen sicheren Untergrund wahrend des Aufbaus stellen, und stellen Sie das
Produkt immer auf eine glatte, flache und stabile Oberflache.

A\ Bitte verwenden Sie das Produkt vorsichtig, da das Produkt groRe Geschicklichkeit verlangt,
Vermeiden Sie bitte Unfélle, durch den Benutzer oder Dritter, durch Sturz oder ZusammenstoR.
A\ Bitte tragen Sie wahrend der Verwendung geeignete Schutzausriistung, z.B. Schutzhelm,

Handschuhe, Knieschiitzer, Ellbogenschiitzer usw.

12



COSTWAY

www.costway.de

Ausfiihrungsstandard: EN71-1 ,-2 ,-3
Bitte lesen Sie dieses Handbuch vor Gebrauch sorgfiltig durch
Achtung: Lesen Sie diese Bedienungsanleitung vor dem Gebrauch
sorgfiltig durch, um einen korrekten und sicheren Betrieb dieses
Produkts zu gewéahrleisten.
Bitte bewahren Sie dieses Benutzerhandbuch zum spiiteren Nach-
schlagen auf.

13



COSTWAY

www.costway.de

Teileliste (im Lieferumfang enthalten):

1. Ein Lenkrad

3. Eine Lenkwelle
honey
2 joy
USER’S MANUAL
P e
[ - |[AOBBR0
wiemis e | 5, Handbuch

2. Ein Sitzplatz

4. Eine Lenkstiitze

14



COSTWAY

www.costway.de

6. Eine Frontplatte

8. Beutel mit Schrauben
und Muttern

2 x M5 * 40mm Schrauben

4 x M5 * 45Smm Schrauben

2 x M5 * 50mm Schrauben

2 x 5 * 14mm Unterlegscheiben
6 x 5 * 12mm Unterlegscheiben
8 x M5 Muttern

7. Ein Nummernschild

9. Lenkradabdeckung

15



COSTWAY

www.costway.de

Montageanleitungen:
1. Befestigen Sie die Lenkstiitze am Rahmen des Gokarts. Mit M5 * 45

mm Schrauben befestigen und gegebenenfalls Unterlegscheiben
verwenden.

2. Befestigen Sie das Nummernschild an der Vorderseite des Gokarts mit
2 Stiick MS * 40 mm Schrauben und Unterlegscheiben.

3. Befestigen Sie die Frontplatte gemifl Foto an der Karosserie.




COSTWAY

www.costway.de

4. Fiihren Sie die Lenkwelle durch die Drehstange. Legen Sie die
Frontplatte iiber die Lenkwelle.

Bitte ziehen Sie diesen Teil, wenn Sie die Lenkwelle durch die
Drehstange fiithren.

5. Setzen Sie das Lenkrad ein, setzen Sie die Lenkwelle ein und
befestigen Sie sie mit 2 Vierkantscheiben und M8-Muttern.

17



COSTWAY

www.costway.de

6. Befestigen Sie den Sitz mit M5 * 50 mm-Schrauben am Rahmen des
Go-Karts. Verwenden Sie gegebenenfalls wieder Unterlegscheiben.

7.Legen Sie die Lenkradabdeckung in die Mitte des Lenkrads.

18



COSTWAY

www.costway.de

8.Stellen Sie sicher, dass alle Schrauben und Muttern vor dem Gebrauch
fest angezogen sind und die Reifen entsprechend aufgepumpt sind.

WARNUNGEN:

Nicht fiir Kinder unter 3 Jahren geeignet

Maximale Gewichtskapazitit von 30 kg

Die Aufsicht durch Erwachsene ist jederzeit erforderlich

Kinder sollten vor dem Gebrauch in das Bremsen eingewiesen werden

Dieses Produkt darf nicht auf dffentlichen Strafien, Autobahnen oder Radwegen betrieben werden

Lesen Sie vor der Verwendung den Abschnitt ,,Sicherer Betrieb*

Uberpriifen und warten Sie das Produkt immer vor dem Gebrauch

SICHERER BETRIEB:

Dieses Produkt muss vor Gebrauch von einem Erwachsenen zusammengebaut
und von einem Erwachsenen iiberpriift werden.

Stellen Sie sicher, dass die Schrauben und Muttern vor dem Gebrauch fest angezogen sind.

Schmieren Sie die Kette hiufig.

Das Spielzeug sollte mit Vorsicht verwendet werden, da die Féahigkeit erforderlich ist,
um Stiirze oder Kollisionen zu vermeiden, die den Benutzer oder Dritte verletzen.

Fiihren Sie vor dem Gebrauch einen Bremstest durch

Nicht in direktem Sonnenlicht lagern

Materialien des Produkts

A. (PP) B. (IRON)

19




COSTWAY

www.costway.de

Ihre Vorschlage und Kommentare fiir COSTWAY sind wirklich wichtig fiir uns!

Wir bitten Sie aufrichtig, in unsere Geschéft zuriickzukehren und durch nur einen
Klick eine gute Bewertung zu hinterlassen. Es ware sehr ermutigend, wenn Sie
das so tun kénnten:

% % % % K Tolle Produkte bis jetzt

24. Februar 2019
Gute Produkte. Schnelle Lieferung, einfaches Aufbauen, funktionieren ohne Problem.

Mit lhrer inspirierenden Bewertung wird COSTWAY konsistenter sein, um lhnen
EIN SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN SERVICE zu bieten!

DE office:FDS GmbH,Neuer Holtigbaum 36,22143 Hamburg,Deutschland

* Belohnungspunkte
‘ * Exklusiver Kundendienst
* Personalisierte Empfehlungen

* Permanenter Einkaufswagen
* Bestellverlauf

COSTWAY
www.costway.de

5 Sterne Bewertung

.88 8.6 ¢

Wir mochten uns bei allen Kunden herzlich bedanken, ‘L6L6N
dass sie sich die Zeit genommen haben, dieses Produkt VANK

zusammenzubauen und uns wertvolle Bewertung

S

zukommen zu lassen.




COSTWAY

www.costway.fr

MANUEL DE L'UTILISATEUR

Kart a Pédales pour Enfants

TY327797

CE MANUEL D'INSTRUCTIONS CONTIENT DES INFORMATIONS IMPORTANTES SUR LA SECURITE. VEUILLEZ LIRE ET CONSERVER POUR LA REFERENCE FUTURE.

VEUILLEZ NOUS DONNER UNE

OCCASION DE L’AMELIORER ET FAIRE MIEUX!

Contactez d’abord notre service a la clientéle amical pour I'aide.

Les replacements pour les pieces manquantes ou endommagées seront H u
Tubel

envoyés le plus vite possible!

Suivez Costway
Consultez-nous : www.costway.fr

21

EN |DE|FR| Es| IT|PL



COSTWAY

www.costway.fr

Contactez-nous !

Ne retournez pas cet article.

Contactez d’abord notre service a la clientéle amical pour l'aide.

E-mail

FR: cs.fr@costway.com

Avant de Commencer

Veuillez lire attentivement toutes les instructions et les conserver pour la référence ultérieure.
Avertissements :

Attention ! Utilisez ce produit avec un équipement de protection.

Attention ! Ne I'utilisez pas dans la circulation routiére.

Attention ! Le produit ne convient pas aux enfants de moins de 3 ans.

Avertissements Généraux :

A Le produit doit étre installé et utilisé sous la surveillance d’un adulte.

A Lisez attentivement chaque étape et suivez ’ordre correct.

A\ Retirez tous les emballages, séparez et comptez toutes les piéces et le matériel.

A Veuillez vous assurer que toutes les piéces sont correctement installées, une installation
incorrecte peut entrainer un danger.

A Nous recommandons que, dans la mesure du possible, tous les articles soient assemblés a
proximité de la zone dans laquelle ils seront utilisés, afin d’éviter de déplacer inutilement le
produit une fois assemblé.

A\ Assurez-vous que la surface est solide pendant ’'assemblage et placez toujours le produit sur
une surface plane et stable.

A Veuillez utiliser le produit avec précaution, car le produit nécessite une grande habileté,
évitez les accidents de I'utilisateur ou d’autres personnes, par chute ou collision.

AVeuillez porter un équipement de protection approprié pendant I'utilisation, par exemple, le

casque de protection, les gants, les genouilléres, les coudiéres, etc.

22



COSTWAY

www.costway.fr

Norme d’exécution : EN71-1, -2, -3
Veuillez lire attentivement ce manuel avant de utiliser

Attention : Pour un fonctionnement correct et siir de ce produit,
veillez a lire attentivement ce manuel d’instructions avant de ’utiliser.
Veuillez conserver ce manuel d’utilisation pour la référence
ultérieure.

23



COSTWAY

www.costway.fr

Liste des piéces (incluse) :

1. Un volant

3. Un arbre de direction

cosTway

vnewczostwaycom

\®
7

USER’S MANUAL
PEDAL GO-KART
TY321787

y
P ——— ] 1] .- [
en |oe| | EE‘ n‘n

2. Un siege

4. Un support de direction

5. Manuel

24



COSTWAY

www.costway.fr

6. Un panneau avant

8. Sac de boulons et d’écrous

2 x Boulons M5*%40mm
4 x Boulons M5%45mm
2 x Boulons M5*50mm
2 x Rondelles 5*14mm
6 x Rondelles 5*12mm
8 x Ecrous M5

7. Une plaque d’immatriculation

9. Couvercle de volant

25



COSTWAY

www.costway.fr

Instructions d’Assemblage :

1. Fixez le support de direction au cadre du kart. Fixez avec des boulons
MS5*45mm et veillez a utiliser des rondelles le cas échéant.

2. Fixez la plaque d’immatriculation a I’avant du kart avec 2 boulons
5*40mm et des rondelles.

3. Fixez le panneau avant a la carrosserie de la voiture selon la photo.




COSTWAY

www.costway.fr

4. Insérez I’arbre de direction a travers la barre de rotation. Placez le
panneau avant sur ’arbre de direction.

Veuillez tirer sur cette piéce lorsque vous insérez I’arbre de direction
dans la barre de rotation.

5. Placez le volant en place et insérez I’arbre de direction a travers
celui-ci et fixez-le avec 2 rondelles carrées et un écrou M8.

27



COSTWAY

www.costway.fr

6. Fixez le siége au cadre du kart a I’aide de boulons M5*50mm, en
veillant a utiliser a nouveau des rondelles le cas échéant.

7. Placez le couvercle du volant au centre du volant.

28



COSTWAY

www.costway.fr

8. Assurez-vous que tous les boulons et écrous sont bien serrés avant
I’utilisation et que les pneus sont correctement gonflés.

AVERTISSEMENTS :

Ne convient pas aux enfants de moins de 3 ans

Capacité de poids maximale de 30 kg

Surveillance d’un adulte requise a tout moment

Les enfants doivent étre instruits sur la fagon de appliquer les freins avant ’utilisation

Ce produit ne doit pas étre utilisé sur les voies publiques, les autoroutes ou les pistes cyclables

Lire la section « Sécurité » avant ’utilisation

Toujours inspecter et entretenir le produit avant de Iutiliser

Sécurité

Ce produit doit étre assemblé par un adulte et controlé par un adulte avant I’utilisation

Veiller a ce que les écrous et les boulons restent solidement fixés avant I’utilisation

Lubrifier souvent la chaine

Le jouet doit étre utilisé avec prudence, car il faut savoir éviter les chutes ou les
collisions qui pourraient causer des blessures a I’utilisateur ou a des tiers.

Effectuer un test de freinage avant ’utilisation

Ne pas stocker a la lumiére directe du soleil

Matériaux de product :

A. (PP) B. (FER)

29




COSTWAY

www.costway.fr

Bienvenue pour visiter notre site et acheter nos produits de qualité!

Vos suggestions et commentaires pour COSTWAY sont vraiment importants pour nous!
Nous vous sollicitons sincérement de revenir dans notre boutique et de laisser une bonne évaluation en
un simple clic. Ce serait trés encourageant si vous pouviez le faire comme ci-dessous:

% % % % %X Bons produits jusqu’a présent

24 février 2019
Excellents produits jusqu’a présent. Livraison rapide et I'installation facile. Et le fonctionnnement sans probleme.

Avec votre évaluation inspirante, COSTWAY sera plus professionnel pour vous offrir une
BONNE EXPERIENCE D’ACHATS, de BONS PRODUITS et un SERCIVE EFFICACE !

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE

* Points de Récompense
‘ * Service a la Clienteéle Exclusif
* Recommandations Personnalisées

* Panier Permanent
* Historique des Commandes

COSTWAY
www.costway.fr

Evaluation de Cing-étoiles

.88 8.6 ¢

Nous tenons a vous présenter nos remerciements ‘
sincéres a tous nos clients qui prennent beaucoup Mezc

de temps pour assembler ce produit et nous donner

) g

des commentaires précieux.




COSTWAY

www.costway.es

MANUAL DEL USUARIO

Coche de Pedales
TY327797

ESTE MANUAL DE INSTRUCCIONES CONTIENE IMPORTANTES INFORMACIONES DE SEGURIDAD, POR FAVOR LO LEAY GUARDE PARA REFERENCIAS FUTURAS.

jPor favor dénos la oportunidad de hacerlo bien y mejorar! Siga Costway

Primero péngase en contacto con nuestro amable departamento de Visitenos: www.costway.es

servicio al cliente para obtener ayuda. jLos reemplazos de piezas faltas o

dafadas se enviaran lo antes posible! H u
31

EN |DE|FR|ES| IT|PL



COSTWAY

www.costway.es

iContactenos!

NO devuelva este articulo.
Primero péngase en contacto con nuestro amable departamento de servicio al cliente para

obtener ayuda.

E-mail

ES: cs.es@costway.com

Antes de Empezar

Lea todas las instrucciones detenidamente y guardelas para futuras referencias.
Advertencias:

jAtencion! Se debe usar con equipo de proteccion.

jAtencion! No lo use en el trafico.

jAtencion! El producto no es adecuado para nifios menores de 3 afos.

Advertencias Generales:

A El producto debe instalarse y usarse bajo la supervision de un adulto.

A Lea detenidamente cada paso y siga el orden correcto.

A Quite todo el embalaje, separe y cuente todas las piezas y los accesorios.

A Asegurese de que todas las piezas estén instaladas correctamente, la instalacion incorrecta
puede provocar un peligro.

A\ Recomendamos que, cuando sea posible, todos los articulos se ensamblen cerca del area en
la que se colocaran en uso, para evitar mover el producto innecesariamente una vez ensamblado.
A Asegurese de que esté en una superficie segura durante la construccion, y coloque el
producto siempre sobre una superficie plana y estable.

A Utilice el producto con cuidado, ya que el producto requiere una gran habilidad, evite
accidentes por parte del usuario u otras personas, por caida o colision.

A Use equipo de proteccion adecuado durante el uso. Por ejemplo, casco, guantes, rodilleras,

coderas protectores, etc.

32



COSTWAY

www.costway.es

Estandar de ejecucion: EN71-1, -2, -3

Lea este manual detenidamente antes de usar

Precaucion: Para un funcionamiento correcto y seguro de este
producto, asegurese de leer este manual de instrucciones
detenidamente antes de usarlo. Conserve este manual de usuario para
futuras referencias.

33



COSTWAY

www.costway.es

Lista de piezas (incluidas):

1. Un volante

3. Un eje de direccion

cosTwAY
i costway.com

USER’S MANUAL
PEDAL GO-KART
TY321787

noansc

=n|ns|m|a‘n‘n

5. Manual

2. Un asiento

4. Un soporte de direccion

34



COSTWAY

www.costway.es

6. Un panel frontal

7. Una placa de matricula

8. Bolsa de tuercas y tornillos

2 x pernos M5%40 mm
4 x pernos M5%45 mm
2 x pernos M5*50 mm
2 x 514 mm arandelas
6 x 512 mm arandelas
8 x M5 tuercas

9. Cubierta del volante

35




COSTWAY

www.costway.es

Instrucciones de montaje:

1. Sujete el soporte de direccion al marco del coche. Fije con pernos
M5*45 mm y asegurese de usar arandelas cuando sea apropiado.

2. Fije la placa de matricula en la parte delantera del coche con 2 pernos
de M5%40 mm y arandelas.

3. Fije el panel frontal a la carroceria del coche de acuerdo con la foto.




COSTWAY

www.costway.es

4. Inserte el eje de direccion a través del poste de giro. Coloque el
panel frontal sobre el eje de direccion.

Tire de esta parte cuando inserte el eje de direccion a través del
poste degirT

5. Coloque el volante en su lugar e inserte el eje de la direccion a
través de él y fijelo con 2 arandelas cuadradas y tuerca MS.

37



COSTWAY

www.costway.es

6. Fije el asiento al bastidor del coche usando pernos M5*50 mm,
asegurese de usar arandelas nuevamente cuando sea apropiado.

7. Coloque la cubierta del volante en el centro del volante.

38



COSTWAY

www.costway.es

8. Asegurese de que todas las tuercas y tornillos estén bien apretados
antes de usarlos, y que los neumaticos estén inflados adecuadamente.

ADVERTENCIA:

No apto para niiios menores de 3 aios.
Capacidad maxima de peso de 30 kg.
Se requiere supervision de un adulto en todo momento
Los nifios deben recibir instrucciones sobre como aplicar los frenos antes de usar.
Este producto no debe utilizarse en vias publicas, autopistas o ciclovias.
Lea la seccion "Operacion segura' antes de usar.
Siempre inspeccione y mantenga el producto antes de usar.

OPERACION SEGURA:

Este producto debe ser ensamblado por un adulto y verificado por un adulto antes de usar.
Asegurese de que las tuercas y los pernos permanezcan firmemente sujetos antes de usar.
Lubrique la cadena a menudo.

El juguete debe usarse con precaucion ya que se requiere habilidad para evitar caidas o
colisiones que causen lesiones al usuario o a terceros.

Realice una prueba de frenos antes de usar.

No almacene en la luz solar directa.

Materiales del Producto:
A. (PP) B . (HIERRO)

39



COSTWAY

www.costway.es

iBienvenido a visitar nuestro sitio web y comprar nuestros
productos de alta calidad!

iSus sugerencias y comentarios para COSTWAY son muy importantes para nosotros!

Le solicitamos sinceramente que vuelva a nuestra tienda y deje una buena calificacion con solo un
clic. Seria muy alentador si pudiera hacerlo amablemente como a continuacién:

% % % % KX Productos mejores hasta ahora

Febrero 24, 2019
Productos mejores hasta ahora. Entrega rapida, configuracion facil y funciona sin problemas.

iCon su calificacion inspiradora, COSTWAY sera mas consistente para ofrecerle EXPERIENCIA
DE COMPRA CONVENIENTE, BUENOS PRODUCTOS y SERVICIO EFICIENTE!

EE.UU.: Fontana, California
Reino Unido: Ipswich

* Puntos de recompensa
‘ * Servicio al cliente exclusivo
* Recomendaciones personalizadas

* Carrito de compras permanente
* Historial de pedidos

COSTWAY
www.costway.es

Calificacion de 5 estrellas

.80 8.8 ¢

Nos gustaria expresar nuestro mas sincero
agradecimiento a todos nuestros clientes por tomarse é@AC‘AS

el tiempo de ensamblar este producto y brindarnos
) g

valiosos comentarios.




COSTWAY

www.costway.it

MANUALE UTENTE

Go Kart a Pedale per Bambini
TY327797

QUESTO MANUALE DI ISTRUZIONI CONTIENE IMPORTANTI INFORMAZIONI SULLA SICUREZZA. S| PREGA DI LEGGERE E CONSERVARE PER RIFERIMENTO FUTURO.

Vi preghiamo di darci la possibilita di fare bene e fare di meglio! Seguire Costway

Per prima cosa contatta il nostro servizio di assistenza clienti.

Visitateci: www.costway.it

Sostituzioni per parti mancanti o danneggiate saranno spedite al piu You
presto! p @

41

EN |DE|FR|ES|IT|PL



COSTWAY

www.costway.it

Contattaci!

NON restituire questo articolo.

Per prima cosa contatta il nostro servizio di assistenza clienti.

E-mail

IT: cs.it@costway.com

Prima di iniziare
Si prega di leggere attentamente tutte le istruzioni e conservarle per riferimenti futuri.
Avvertenze:
Attenzione! Utilizzare con dispositivi di protezione.
Attenzione! Non usarlo nel traffico.

Attenzione! Il prodotto non é adatto a bambini di eta inferiore a 3 anni

Avvertenze Generali:

A\ 1l prodotto deve essere installato e utilizzato sotto la supervisione di un adulto.

A\ Leggere attentamente ogni passo e seguire I'ordine corretto.

A Rimuovere tutti gli imballaggi, separare e contare tutte le parti e I'hardware.

A\ Assicurarsi che tutte le parti siano installate correttamente, un'installazione errata puo
comportare un pericolo.

A\ Raccomandiamo che, ove possibile, tutti gli articoli siano assemblati vicino all'area in cui
verranno messi in uso, per evitare di spostare inutilmente il prodotto una volta assemblato.
A\ Assicurare una superficie sicura durante la costruzione e posizionare il prodotto sempre
su una superficie piana, stabile e solida.

A\ Si prega di utilizzare il prodotto con attenzione, poiché il prodotto richiede abilita elevate,
evitare incidenti causati da utenti o altri a causa di cadute o collisioni.

A\ Indossare dispositivi di protezione adeguati durante I'uso, ad es. casco protettivo, guanti,

ginocchiere, gomitiere ecc.

42



COSTWAY

www.costway.it

Standard di esecuzione: EN71-1, -2, -3
Si prega di leggere attentamente questo manuale prima dell'uso

Attenzione: Per un funzionamento corretto e sicuro di questo prodot-
to, leggere attentamente questo manuale di istruzioni prima dell'uso.
Conservare questo manuale per riferimento futuro.

43



COSTWAY

www.costway.it

Elenco delle parti (Incluso):

1. Un volante

3. Un albero dello sterzo

cosTwAY
i costway.com

USER’S MANUAL
PEDAL GO-KART
TY321787

y
PO ———————— = |[BEAR0

=n|ns|m|a‘n‘n

5. Manuale

2. Un sedile

4. Un supporto dello sterzo

44



COSTWAY

www.costway.it

6. Un pannello anteriore 7. Una targa

8. Sacchetto di dadi e bulloni 9. Coperchio del volante

2 x M5*40mm Bulloni
4 x M5*45mm Bulloni
2 x M5*50mm Bulloni
2 x 5*14mm Rondelle
6 x 5%12mm Rondelle
8 x M5 Dadi

45



COSTWAY

www.costway.it

Istruzioni di montaggio:

1. Fissare il supporto dello sterzo al telaio del go-kart. Fissare con bulloni
MS * 45Smm e assicurarsi di utilizzare rondelle ove appropriato.

2. Fissare la targa sulla parte anteriore del go-kart 2 pezzi di bulloni M5 *
40mm e rondelle.

3. Fissare il pannello anteriore alla carrozzeria secondo la foto.




COSTWAY

www.costway.it

4. Inserire 1'albero dello sterzo attraverso 1'asta di rotazione. Posizion-
are il pannello anteriore sull'albero dello sterzo.

Tirare questa parte quando si inserisce 1'albero dello sterzo attraverso
I
I'asta di rotazione.

5. Posizionare il volante in posizione e inserire 1'albero dello sterzo
attraverso di esso e fissarlo con 2 rondelle quadrate e dado M8.

47



COSTWAY

www.costway.it

6. Fissare il sedile al telaio del go-kart usando bulloni M5 * 50mm,
assicurarsi di utilizzare nuovamente le rondelle, se del caso.

7. Posizionare il coperchio del volante al centro del volante.

48



COSTWAY

www.costway.it

8. Accertarsi che tutti i dadi e i bulloni siano serrati saldamente prima
dell'uso e che i pneumatici siano adeguatamente gonfiati.

AVVERTENZE:

Non adatto a bambini di eta inferiore a 3 anni.

Capacita massima di 30 kg.

E richiesta la supervisione di un adulto in ogni momento.

I bambini devono essere istruiti su come applicare i freni prima dell'uso.

Questo prodotto non deve essere utilizzato su strade pubbliche, autostrade o piste ciclabili.

Leggere la sezione ""Funzionamento sicuro' prima dell'uso.

Ispezionare e mantenere sempre il prodotto prima dell'uso.

OPERAZIONI SICURE:

Questo prodotto deve essere assemblato da un adulto e controllato da un adulto prima dell'uso

Assicurarsi che dadi e bulloni rimangano saldamente fissati prima dell'uso

Lubrificare spesso la catena

Il giocattolo deve essere usato con cautela poiché ¢ necessaria abilita per evitare
cadute o collisioni che causano lesioni all'utente o a terzi.

Eseguire una prova del freno prima dell'uso

Non conservare alla luce diretta del sole

Materiali del Prodotto:

A. (PP) B. (FERRO)

49




COSTWAY

www.costway.it

Benvenuti a visitare il nostro sito Web e acquistare i nostri
prodotti di qualita!

| tuoi suggerimenti e commenti per COSTWAY sono davvero importanti per noi!

Ti chiediamo sinceramente di tornare al nostro negozio e lasciare un buono

commento con un semplice clic. Sarebbe piuttosto incoraggiante se potessi
gentilmente farlo come in seguito:

* % % % X Ottimi prodotti finora

24 febbraio 2019
Grandi prodotti finora. Consegna veloce, facile configurazione e funzionamento senza problemi.

Con il tuo commento stimolante, COSTWAY continuera a offrirti FACILITA DI ACQUISTO FACILE,
PRODOTTI BUONI e SERVIZIO EFFICIENTE!

US ufficio: Fontana, California
UK ufficio: Ipswich

* Punti del premio
{‘ * Servizio dei clienti esclusivo
* Raccomandazioni personalizzate
* Carrello permanente
* Storia degli ordini

COSTWAY
www.costway.it

Commento di 5 stelle

1,88 8.6 ¢

Ringraziamo sinceramente tutti i nostri clienti per

aver dedicato del tempo per assemblare questo é@b@‘e

prodotto e fornirci preziosi feedback.
) g

50



COSTWAY

www.costway.pl

INSTRUKCJA OBSLUGI

GO-KART NA PEDALY
TY570392

NINIEJSZA INSTRUKCJA ZAWIERA ISTOTNE INFORMACJE DOTYCZACE BEZPIECZENSTWA. PROSIMY O ZAPOZNANIE SIE Z NIA | ZACHOWANIE JEJ DO WGLADU W PRZYSZLOSCI.

W razie klopotow skontaktuj sie z nami!

Jesli potrzebujesz pomocy skontaktuj sie z naszym przyjaznym dziatem

obstugi klienta.

Sledz Costway

Odwiedz nas: www.costway.pl

Ewentualne braki elementéw zostang uzupetnione najszybciej jak to mozliwe! p You @

51

EN |DE|FR|ES| IT |PL



COSTWAY

www.costway.pl

Skontaktuj sie z nami!

Nie zwracaj tego produktu.

Jesli potrzebujesz pomocy, skontaktuj sie z naszym przyjaznym dziatem obstugi klienta.

E-mail

PL: sklep@costway.pl

Zanim Zaczniesz

Przeczytaj uwaznie wszystkie instrukcje i zachowaj je na przysztosc.
Ostrzezenia:

Uwaga! Uzywaj z ochraniaczami.

Uwaga! Nie uzywaj go w ruchu ulicznym.

Uwaga! Produkt nie jest odpowiedni dla dzieci ponizej 3 lat.

Ogolne ostrzezenia:

A Produkt musi byé zainstalowany i uzywany pod nadzorem osoby dorostej.

A Przeczytaj uwaznie kazdy krok i postepuj we wiasciwej kolejnosci.

A Usun opakowanie i upewnij sie, ze zestaw zawiera wszystkie czesci i elementy montazowe.
A Upewnij sie, ze wszystkie czgsci sa poprawnie potaczone, nieprawidtowa instalacja moze
prowadzi¢ do wypadku.

A\ Zalecamy, aby w miare mozliwosci wszystkie elementy byly montowane w poblizu miejsca, w
ktorym beda uzywane, aby unikna¢ niepotrzebnego przenoszenia produktu po ztozeniu.

A Zapewnij bezpieczng przestrzen robocza podczas montazu i upewnij sie, ze produkt znajduje
sie na plaskiej i stabilnej powierzchni.

A Uzywaj produktu ostroznie. Unikaj upadku lub kolizji.

A Podczas uzytkowania nalezy nosi¢ odpowiedni sprzet ochronny, np. kask ochronny, rekawiczki,

nakolanniki, ochraniacze na tokcie itp.

52



COSTWAY

www.costway.pl

Standard: EN71-1, -2, -3

Przed uzyciem nalezy dokladnie zapoznac si¢ z instrukcja

Uwaga: Dla poprawnego i bezpiecznego uzywania produktu przed
uzyciem przeczytaj dokladnie instrukcje.

53



COSTWAY

www.costway.pl

Lista elementéw (w zestawie):

1.Jedna Kierownica

3. Jeden drazek kierowniczy

honey
/2y
USER’S MANUAL
PO ez
P ——— <[] 7] .
wi=lnlaie~ | S, Instrukcja

2.Jedno siedzenie

4. Jeden Wspornik przedni

54



COSTWAY

www.costway.pl

6.Jeden panel przedni

8. Paczka $rub i nakretek

2 x Sruba M5*40mm

4 x Sruba M5*45mm

2 x Sruba M5*50mm

2 x podkladka 5¥*14mm
6 x podkladka 5*12mm
8 x nakretka M5

7. Jedna rejestracja

9. Jedna pokrywka kierownicy

95




COSTWAY

www.costway.pl

Instrukcje montazu:

1. Przymocuj Wspornik przedni do ramy go-karta. Przykreé¢ za pomocg
Srub M5*45mm i pamietaj o podkladkach we wlasciwych miejscach.

2. Przymocuj rejestracje na przedzie go-karta za pomoca 2 Srub M5 *
40mm i podkladek.

3.Przymocuj panel przedni do korpusu samochodziku zgodnie ze
zdjeciem. -




COSTWAY

www.costway.pl

4. W16z drazek sterowniczy przez osie. Umies¢ panel przedni nad
0sia.
Pociggnij ten element kiedy wkladasz drazek kierowniczy przez oS.

5. Umies$¢ kierownic¢ na swoim miejscu i wloz przez nia drazek
kierowniczy i przykre¢ dwoma kwadratowymi podkladkami i
nakretka M8.

57



COSTWAY

www.costway.pl

6. Przykrec siedzenie do ramy go-karta uzywajac Srub MS5*S0mm

7.Umie$¢ pokrywke kierownicy w centrum Kierownicy.

58



COSTWAY

www.costway.pl

8.Przed uzyciem upewnij si¢, Ze opony sg odpowiednio nadmuchane, a
wszystkie nakretki i Sruby dokrecone.

OSTRZEZENIA:

Produkt nie przeznaczony dla dzieci ponizej 3 lat.
Maksymalna dopuszczalna waga to 30kg.
Nadzor rodzica wymagany podczas uzywania.

Dzieci powinny by¢ poinstruowane jak uzywa¢ hamulcow przed rozpoczeciem jazdy.
Ten produkt nie powinien by¢ uzywany na drogach publicznych, autostradach czy drogach rowerowych.
Przed uzyciem przeczytaj ,,Bezpieczne uzytkowanie”

Zawsze sprawdzaj i konserwuj produkt przed uzyciem.

BEZPIECZNE UZYTKOWANIE:

Ten produkt musi zosta¢ zmontowany i sprawdzany przed uzyciem przez osobe dorosla.

Przed uzyciem upewnij si¢, ze wszystkie Sruby i nakretki sa dokrecone.

Regularnie smaruj lancuch.

Zabawka powinna by¢ uzywana ostroznie, wymaga umiejetnoSci prowadzenia aby unikna¢
przewrotek, zderzen ktore spowodowa¢ moga obrazenia uzytkownika lub oséb trzecich.

Przed uzyciem wykonaj test hamulca.

Nie przechowywaé w bezposrednim $wietle stonecznym.

Materialy:

A+ (Tworzywo PP) B. (ZELAZO)

59



COSTWAY

www.costway.pl

Zapraszamy do odwiedzenia naszej strony internetowej!

Twoje sugestie i komentarze dotyczace COSTWAY sg dla nas bardzo wazne!
Serdecznie zachecamy do powrotu do naszego sklepu i pozostawienia dobrej
oceny - wystarczy proste klikniecie. Bytloby nam mito, gdyby twoja ocena
wygladata jak ponizej:

% % % % K Swietne produkty

24 luty 2018
Swietne produkty. Szybka dostawa, tatwa konfiguracja i wysoka jako$¢ wykonania.

Twoja ocena nas inspiruje! Dzieki niej COSTWAY bedzie dazyt do zaoferowania ci WYDAJNEJ
OBSLUGI, DOBRYCH PRODUKTOW | BEZPROBLEMOWYCH ZAKUPOW!

PL office: Gdansk

* punkty lojalno$ciowe
‘ * doskonata obstuga klienta
* personalizowane rekomendacje

* karta statego klienta
* historia zaméwien

COSTWAY
www.costway.pl

Pieciogwiazdkowa Ocena

kX

Dziekujemy za dokonanie zakupu w naszym

sklepie i zapraszamy do odwiedzenia go w Vz‘aK‘AJEM‘(

przysztosci!
) g

60



COSTWAY ‘

SHOP EASY. SAVE MONEY.



